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Activity 8-1 (23 Aug 2022)
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2. In a village, there are n houses built along a single road. They plan to
plant gardens in front of the houses; therefore they have to choose a
set of houses to host the gardens. Since they do not want to plant too
many gardens, they do not want to have two gardens on consecutive
houses. In how many ways can they choose a set of houses such that no
two consecutive houses are in the set? (It is possible that, in the end,
they do not plant any garden at all.)

For example, if we have 3
houses these are the 5 ways
to choose houses. (* is chosen;
o is not) The first example
does not choose any houses.
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